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Instructions :

&)

/74 salda @ Falandl ROLdl Grivadl Wz wazd awdl.
Fillup strictly the details of @~ signs on your answer book.

Name of the Examination :

*| S. Y. B. C. A. (Sem. 3)

Name of the Subject : (
"l P - 301 : Comp. Oriented Numetrical & Stat. Methqd/s

CSubjectCode No.:| O 8 3 & Section No/ﬁ QL g QStudent's Signature J

(2) Attempt all questions.
(3 Tigures to the right indicate full m

(4) Mention your options clear}zﬁ \\

1 Do as directed : \ ' : 10
(@ Fill up blanks : ‘ '
(1) The valgg of c l@tion coefficient is between

(@) In rank cm?/

(3) The two regression coefficients are 0.8 and 0.2,
nce correla 1ion coefficient is
4) wo regression lines intersect each ather at .

?

= 34, mode = 26.5 and coefficient of
variation = 50 then median =

e true or false with reason :

e approximate root of the equation y2 _3y 44 =9
) as between —2 and -3.

[ (2) The standard deviation of 6, 6, 6, 6 is 6.

o ®) I b, =-0.8, b, =045 hence ;—0.6.
“,/ ﬁ o @ If Yd* =0 then there is no correlation between the

\ A\ two variables.
\\7// (5) The correlation coefficient 0.6 indicates twice the

relationship than the correlation coefficient 0.3.
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2 (@) Use Bisection method to find a real root of the 12
equations correct up to 3 decimal places
x®-2x-1=0
(b) From the following table calculate %%
x [ 01 J 02 [ 03 | 04 | 05 / \\ -
y=e" |1.1052 [1.2214 {1.3499 | 1.4918 | 1.6487 ///&\//
2 (@) Using the False position method, find approximate \527//
root of the equations correct upto 3 decimal pla;e& QW
x®—x?-2=0
(b) By the use of Lagrange's formula find the pr
year 1978 :
/o~
Year 1970 | 1977 /1979 | ((
Profit ('60000)| 8.5 | 12 | 10 |
“ //—:\4 \
» | 3
3 (a) Calculate the approximate ues [ x*dx by using 12
1) Trapez01dal rule (11) Slmpsons =~ rule by dividing
this range in six 1nterv(
(b)  Solve the following f eg atlons by Gauss Seidal
Method (perform fo ratm
6x+y+z 105 — -
dx +8v+37—15\§/ /
5x+4y—10z = 65 <
l d*y
3 (a) Fr llowmg table evaluate aa and }, 12
dx dx~
, x=1.4
] g 1.6 1.8 2.0 2.2
//’”" v [4.0552 | 4.9530 | 6.0496 | 7.3891 | 9.0250
SolVe the following system of equations by Gauss
\\ E/anatlon method :
ﬁ 2xty+z=10,
\ )] B3x+2y+32z=18
\ / x+4y+9z =16
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4 (@) Marks obtained by 25 students are given below 12
‘ calculate Mean and Mode :
Marks 0-10110-20]20-30{30-40 (40-50
No. of students | 2 4 9 7 3
() Find the standard deviation of the following series : (// \
T x 1of11 {1213 14| //’::,\
Frequency | 3 [12 |18 {12 3 \\ A
l y \\\\\ ) /\

median from the following data :

OR =/

4 (a) Define Me;an and Median and compute me@%@Z

x|10-19[20-29 [30-39 [40-49 [50-59 | 6069
fl 12 19 31 27 /16 -8

(b) Calculate the mean deviation from mea/r}\f“okr Mf@?owing
data : ‘// NN,

Class |0-33-6]6-9]9-12|12-15|15-18 | 1821
Frequency | 2 7 10 127 9 6 4

5 (a) Find the correlation coeécient\ bet&n the length 12
and weight : : j _

Length in inches | 3 | 4 | 6/5 10
Weight in 'oz-s |9 [1114 |15 |16

() Two judges have éﬂi‘&g\isrﬁ\ﬁks to 10 students for their

honesty. Find the ran cotrelation coefficient :

Ist Judge |1]6]5]10(3] 2 |4]9]7]8
2nd Judge [3|5 |8 4 |7]10(2|1]|6(9
\ OR

5 (a) owing table shows the scores in an 12
mtelligence test of 67 students of different age

roups. Find the correlation coefficient between

aWnd scores of the test :

Scorés | Agein Years |Total

| 18 19 20 21
‘w\ ‘200—250 41 41 2| 1 11
/:;7 \ —¥V250-300| 3| 5| 4| 2 14
/

ﬁ 300-350 | 2| 6| 8| 5| 21

350400 1] 4] 6] 10] 21

N
\\’/// Total 101 19 20| 18| 67
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(b) Obtain rank correlation coefficient :

123 1108 {125 137 (156 | 112 [107 [ 136
168 1158 (178 | 189 (197 [169 | 159 | 179

6 (@ Obtain the regression equations from the following 12//\\\

data and estimate x for ¥y =25, correlation
coefficient = 0.8 :

x |y

 Average | 25.54 40 / /;ff
S.D. 241 6
(b) Obtain equa‘tions of two regression lines from th Wi
data : 4;1"\ )
o > N
2(8[10]-2]5 [4 (@)
o )
yI13i2(5(10-2]-3 ‘ -

6 (@ The equations of regressio
y are respectively as follo_ s :
2x-HBy+40=0

10x-9v =120 (

Hence k )
@i) Obtain the mea /’
(i) Estimate ¥ when y=40

(i) Estimate y\\;’{h x=/60

@v) Obtain corre\l\é ion coefficient between x and y.

() Find j}@aﬁons of regression lines from the following

data a

x (3216 [4]-2[5]7
5113112(-1]2]200 (=3

u\ \
\

N\
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also est@\ate y for x=1 and x for y=4 :
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